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Congruence of triangles

(त्रिभुजों की सर्वांगसमतव)
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Congruence (सर्वांगसमतव) :
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SSS Rule:
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SAS Rule:
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ASA / AAS / SAA Rule:
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RHS Rule:
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Let’s prove something:

1. Any point on the angle bisector of an angle is equidistant from the arms of 
the angle.

कोण समद्वर्भवजक पर स्थित कोई भी त्र िंदु कोण की दोनों भजुवओिं से
समवन दरूी पर होतव है.
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2. Any point the perpendicular bisector of a line segment is equidistant from 
the ends of the line segment.

ककसी रेखवखिंड के लम् सम्द्वर्भवजक पर स्थित कोई भी त्र िंदु रेखवखिंड के
दोनों ससरों से  रव र दरूी पर होगव.
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3. Perpendicular drawn on a chord from the center of the circle bisects the 
chord.

र्तृ के कें द्र से जीर्व पर खीिंचव गयव लम् जीर्व को समद्वर्भवस्जत करतव है.
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4. Tangents drawn form an exterior point to a circle are equal in length.

र्तृ के  वहर स्थित त्र िंदु से खीिंची गयी थपर्श रेखवएिं समवन लम् वई की होती
हैं.
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5. Equal chords in a circle are equidistant from the center of the circle.

ककसी र्तृ में समवन लम् वई की जीर्वएिं, कें द्र से समवन दरूी पर होती हैं.



In ∆ 𝑨𝑩𝑪 and ∆𝑫𝑬𝑭, AB=DE and BC=EF, 
then one can say that ∆𝑨𝑩𝑪 is congruent 
to ∆𝑫𝑬𝑭 if
त्रिभजु ∆ 𝑨𝑩𝑪 और ∆𝑫𝑬𝑭 में अगर AB=DE 
और BC=EF है तो  ∆𝑨𝑩𝑪 , ∆𝑫𝑬𝑭 के
सर्वशन्गसम होगव अगर:
a) ∠𝑩𝑨𝑪 = ∠𝑬𝑫𝑭               
b) ∠𝑨𝑪𝑩 = ∠𝑬𝑫𝑭 
c) ∠𝑨𝑪𝑩 = ∠𝑫𝑬𝑭               
d) ∠𝑨𝑩𝑪 = ∠𝑫𝑬𝑭 

15PG (Congru) d



Two line segments, PQ and RS 
intersect at X in such a way that 
XP=XR. If ∠𝑷𝑺𝑿 = ∠𝑹𝑸𝑿, then one 
must have
दो रेखवएिं PQ और RS ककसी त्र िंदु X पर
इस प्रकवर प्रविछेद करती हैं कक 
XP=XR है| अगर ∠𝑷𝑺𝑿 = ∠𝑹𝑸𝑿 है
तो :
a) 𝑷𝑹 = 𝑸𝑺        
b) 𝑷𝑺 = 𝑹𝑸 
c) ∠𝑿𝑺𝑸 = ∠𝑿𝑹𝑷       
d) 𝒂𝒓 ⊿𝑷𝑿𝑹 = 𝒂𝒓(⊿𝑸𝑿𝑺) 

16PG (Congru) b
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In the figure given below, M is the 
mid-point of AB and ∠𝑫𝑨𝑩 =
∠𝑪𝑩𝑨 and ∠𝑨𝑴𝑪 = ∠𝑩𝑴𝑫. Then 
the triangle 𝑨𝑫𝑴 is congruent to 
the triangle 𝑩𝑪𝑴 by
ननम्न दी गई आकृनत में, M भजुव AB
कव मध्य त्र िंदु है और ∠𝑫𝑨𝑩 =
∠𝑪𝑩𝑨 और ∠𝑨𝑴𝑪 = ∠𝑩𝑴𝑫 है| तो
त्रिभजु 𝑨𝑫𝑴 और त्रिभजु 𝑩𝑪𝑴 ककस
ननयम के अिंतगशत सर्वांगसम होंगे?
a) SAS rule 
b) SSS rule 
c) ASA rule 
d) AAA rule

CDS 5 Feb 2017PG (Congru) c



ABCD is a square. A is joined to a 
point P on BC and D is joined to a 
point Q on AB. If 𝑨𝑷 = 𝑫𝑸 and AP 
intersects DQ at R, then ∠𝑫𝑹𝑷 𝒊𝒔:
ABCD एक र्गश है| A ,BC पर एक त्र न्द ु
P से जुड़व हुआ है ओर D ,AB पर त्र न्दु
Q से जोड़व हुआ है, यदद AP और DQ,
R पर प्रनतछेद करतव है और 𝑨𝑷 =
𝑫𝑸 है तो ∠𝑫𝑹𝑷 =?
a) 60° b) 120° 
c) 90°  d) Can’t be determined

18PG (Congru) c
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Let D and E be two points on the side 
𝑩𝑪 of ∆𝑨𝑩𝑪 such that 𝑨𝑫 = 𝑨𝑬 and 
∠𝑩𝑨𝑫 = ∠𝑬𝑨𝑪.  If 𝑨𝑩 = (𝟑𝒙 +
𝟏) 𝒄𝒎, 𝑩𝑫 = 𝟗 𝒄𝒎, 𝑨𝑪 = 𝟑𝟒 𝒄𝒎 and 
𝑬𝑪 = (𝒚 + 𝟏) cm, then the value of 
(𝒙 + 𝒚) is:
मवनव की ∆𝑨𝑩𝑪 की भजुव 𝑩𝑪 पर त्र न्दु
D और E इस प्रकवर है की 𝑨𝑫 = 𝑨𝑬 
और ∠𝑩𝑨𝑫 = ∠𝑬𝑨𝑪 है| यदद 𝑨𝑩 =
(𝟑𝒙 + 𝟏) 𝒄𝒎, 𝑩𝑫 = 𝟗 𝒄𝒎, 𝑨𝑪 =
𝟑𝟒 𝒄𝒎 और 𝑬𝑪 = (𝒚 + 𝟏) cm है, तो
(𝒙 + 𝒚) कव मवन ज्ञवत कीस्जए|
a) 19   b) 16   
c) 20   d) 17

SSC  CGL T2, 16 Nov 2020PG (Congru) a



20

In a triangle 𝑨𝑩𝑪, 𝑫 and 𝑬 are points on 𝑩𝑪 
such that 𝑨𝑫 = 𝑨𝑬 and ∠𝑩𝑨𝑫 = ∠𝑪𝑨𝑬. If 
𝑨𝑩 = 𝟐𝒑 + 𝟑 , 𝑩𝑫 = 𝟐𝒑, 𝑨𝑪 = (𝟑𝒒 − 𝟏)  
and 𝑪𝑬 = 𝒒, then find the value of (𝒑 + 𝒒).
एक त्रिभजु 𝑨𝑩𝑪 में 𝑫 और 𝑬, 𝑩𝑪 पर ऐसे
त्र िंदु है कक 𝑨𝑫 = 𝑨𝑬  और ∠𝑩𝑨𝑫 = ∠𝑪𝑨𝑬
है| यदद 𝑨𝑩 = 𝟐𝒑 + 𝟑 , 𝑩𝑫 = 𝟐𝒑, 𝑨𝑪 =
(𝟑𝒒 − 𝟏)  और 𝑪𝑬 = 𝒒 है, तो (𝒑 + 𝒒) कव
मवन ज्ञवत कीस्जए|
a) 𝟑  b) 𝟒. 𝟓 c) 𝟑. 𝟔  d) 𝟐

SSC CGL T1, 13 Apr 2022 S1 PG (Congru) a



In the adjoining figure D is the midpoint 
of BC of a ∆ABC. DM and DN are the 
perpendiculars on AB and AC respectively 
and DM = DN, then the ∆ABC is:
a) Right angled 
b) Isosceles  
c) Equilateral 
d) Scalene
D त्रिभजु ∆ABC की भजुव BC कव मध्य त्र िंदु
है| DM और DN क्रमर्ः भजुवओिं AB और AC
पर लम् हैं| अगर DM = DN है तो ∆ABC
होगव:
a) समकोण
b) समदोभजूी
c) समभजूी
d) वर्षमभजूी

21PG (Congru) b
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SSC CHSL, 6 June 2022 S3PG (Congru) d

Given below are some of the measures of the sides and angles of 
five triangles. Which of the triangles given in the options is NOT 
congruent to ∆𝑨𝑩𝑪?
पवाँच त्रिभजुों की भजुवओिं और कोणों की कुछ मवपें नीचे दी गई है|
ददए गए वर्कल्पों में से कौन सव त्रिभजु ∆𝑨𝑩𝑪 के सर्वशगसम नहीिं
है?
In ∆𝑨𝑩𝑪, 𝒎 𝑨𝑩 = 𝟑. 𝟔𝒄𝒎, 𝒎 𝑩𝑪 = 𝟓𝒄𝒎,  𝒎 𝑪𝑨 = 𝟒𝒄𝒎,
𝒎 ∠𝑩 = 𝟓𝟐. 𝟒°, 𝒎 ∠𝑪 = 𝟒𝟓. 𝟓°

In ∆𝑫𝑬𝑭, 𝒎 𝑫𝑬 = 𝟒𝒄𝒎, 𝒎 𝑬𝑭 = 𝟓𝒄𝒎, 𝒎 𝑭𝑫 = 𝟑. 𝟔𝒄𝒎

In ∆𝑮𝑯𝑰, 𝒎 𝑯𝑰 = 𝟓𝒄𝒎, 𝒎 ∠𝑯 = 𝟓𝟐. 𝟒°, 𝒎 ∠𝑰 = 𝟒𝟓. 𝟓°

In ∆𝑱𝑲𝑳, 𝒎 𝑱𝑲 = 𝟑. 𝟔𝒄𝒎, 𝒎 𝑳𝑱 = 𝟒𝒄𝒎, 𝒎 ∠𝑱 = 𝟓𝟐. 𝟒°

In ∆𝑴𝑵𝑶, 𝒎 𝑴𝑵 = 𝟑. 𝟔𝒄𝒎, 𝒎 𝑵𝑶 = 𝟓𝒄𝒎, 𝒎 ∠𝑵 = 𝟓𝟐. 𝟒°
a) ∆𝑫𝑬𝑭 b) ∆𝑴𝑵𝑶 c) ∆𝑮𝑯𝑰 d) ∆𝑱𝑲𝑳
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